Chapter 9
questions

 1.
Explain a situation when a one-sided outer join is useful.

Ans: A one-sided outer join is useful when you want the output of the query with the matching rows plus the nonmatching rows from one of the tables. For example in the University Database, it can be useful to see all offerings listed in the output even if an offering does not have an assigned faculty.

 

2.
Explain a situation when a full outer join is useful.

Ans: A full outer join is useful when you want the output of the query with the matching rows plus the nonmatching rows from both tables. For example, if you want to find all university people (students and faculty) who live in a certain city, a full outer join can combine the Student and Faculty tables.

 3.
How do you interpret the meaning of the LEFT and RIGHT JOIN keywords in the FROM clause?

Ans: The LEFT JOIN keyword means generate a table containing the matching rows and the nonmatching rows of the “left” table. The RIGHT JOIN keyword means generate a table containing the matching rows and the nonmatching rows of the “right” table.

 4.
What is the interpretation of the FULL JOIN keywords in the FROM clause?

Ans: FULL JOIN is short for FULL OUTER JOIN. The FULL JOIN keywords indicate a full outer join operation in which the non matching rows from both input tables are preserved in the result.
 5.
How do you perform a full outer join in SQL implementations (such as Microsoft Access and Oracle 8i) that do not support the FULL JOIN keywords?

Ans: You need to perform a union operation on the results of two one-sided join operations.
 6.
What is a nested query?

Ans: A nested query or subquery is a query (SELECT statement) inside a query. A nested query can appear as part of a condition in the WHERE or HAVING clauses as well as in the FROM clause.

 7.
What is the distinguishing feature about the appearance of Type I nested queries?

Ans: In type I nested queries, the inner query does not reference any tables used in the outer query.

 8.
What is the distinguishing feature about the appearance of Type II nested queries?

Ans: In type II nested queries, the inner query references a table used in the outer query.

 9.
How many times is a Type I nested query executed as part of an outer query?

Ans: A type I nested query does not execute as part of an outer query because the nested (inner) query does not reference the outer query. Instead, it produces output before the outer query is executed.

10.
How is a Type I nested query like a procedure in a program?

Ans: A Type I nested query is executed one time like a procedure.

11.
How many times is a Type II nested query executed as part of an outer query?

Ans: A Type II nested query executes one time for each row in the outer query.

12.
How is a Type II nested query like a nested loop in a program?

Ans: A Type II nested query is executed repeatedly like a loop.

13.
What is the meaning of the IN comparison operator?

Ans: The IN comparison operator means “element of”. When it is used to express a join, a row is selected in the outer query if the join column is in an element of the nested query result.

14.
What is the meaning of the EXISTS comparison operator?

Ans: The EXISTS comparison operator is true if the inner query evaluates to a non-empty table (one or more rows in the result). The EXISTS comparison operator typically is not used for join problems because Type II nested queries can be slow to execute.

15.
What is the meaning of the NOT EXISTS comparison operator?

Ans: The NOT EXISTS comparison operator means that the result contains rows in the outer query that is not in the nested query. The NOT EXISTS comparison operator can be used to solve problems that involve the relational difference operator.

16.
When can you not use a Type I nested query to perform a join?

Ans: If the result contains any columns from the nested query, a Type I nested query cannot be performed.

17.
Why is a Type I nested query a good join method when you need a join in a DELETE statement?

Ans: A Type I nested query is useful when the deleted rows are related to other rows. 

18.
Why does SQL:2003 permit nested queries in the FROM clause?

Ans: SQL:2003 follows a philosophy of consistency in language design. Consistency means that wherever an object is permitted, an object expression should be permitted. In the FROM clause, this philosophy means that wherever a table is permitted, a table expression should be allowed.
19.
Identify two situations in which nested queries in the FROM clause are necessary.
Ans: One usage of nested queries in the FROM clause is to compute an aggregate function within an aggregate function (nested aggregates). SQL does not permit an aggregate function inside another aggregate function. A nested query in the FROM clause overcomes the prohibition against nested aggregates. Another usage of a nested query in the FROM clause is to compute aggregates from multiple groupings. Without a nested query in the FROM clause, a query can contain aggregates from one grouping.
20.
How do you detect that a problem involves a division operation?

Ans: A problem involving a division operation contains adjectives “every” or “all” between a verb phrase representing a table and a noun representing another table.

21.
Explain the “count” method for formulating division problems.

Ans: Formulating division problems use the COUNT function with a nested query in the HAVING clause. The idea is to compare the number of rows in the outer query with the number of rows in the nested query. 

22.
Why is it sometimes necessary to use the DISTINCT keyword inside the COUNT function for division problems?

Ans: If the division operation requires the comparison of the number of values of a non unique column, the DISTINCT keyword must be used to only count unique values.
23.
What is the result of a simple condition when a column expression in the condition evaluates to null?

Ans: Rows evaluating to null are discarded.

24.
What is a truth table?

Ans: A truth table is used to evaluate the result of a compound condition. A truth table shows how combinations of values (true, false, and null) combine with the Boolean operators. 

25.
How many values do truth tables have in the SQL:1999 standard?

Ans: Three values (true, false, and null).

26.
How do you use truth tables to evaluate compound conditions?

Ans: Truth tables with three values define a three-valued logic. You can evaluate the result of compound condition from the internal cell, which is the value of the two corresponding external cells.

27.
How do null values affect aggregate calculations?

Ans: Null values are ignored in aggregate calculations.

28.
Explain why the following equation may not be true if Column1 or Column2 contains null values: SUM(Column1) – SUM(Column2) 5 SUM(Column1 – Column2)

Ans: Without regard to null values, the equation of SUM(Column1) – SUM(Column2) = SUM(Column1 – Column2) is true. With null values, the equation may not be true because a calculation involving a null value yields a null value. If Column1 has a null value in one row, the minus operation in SUM(Column1 – Column2) produces a null value for that row. Whereas, the value of Column2 in the same row is counted in SUM(Column2) (in the left side of the equation). 

29.
How are null values handled in a grouping column?
Ans: For null values in a grouping column, all rows with null values are grouped together. The grouping column shows null values in the result.

30.
In Access, how do you compensate for the lack of the DISTINCT keyword inside the COUNT function?
Ans: In Access, a nested query in the FROM clause can compensate for the inability to use the DISTINCT keyword inside aggregate functions.
 31.
When can you use a Type I nested query with the NOT IN operator to formulate a difference operation in SQL?

Ans: A Type I nested query with the NOT IN operator can be used for a difference operation when the difference operation involves a comparison of only one column from each input table.

 32.
When can you use a one-sided outer join with an IS NULL condition to formulate a difference operation in SQL?

Ans: A one-side outer join with an IS NULL condition can be used to perform a difference operation when there are no other conditions (besides the IS NULL condition) on the excluded table.

 33.
When can you use MINUS operation in SQL to formulate a difference operation in SQL?

Ans: A MINUS operation can be used to perform a difference operation when the result contains only union compatible columns.

 34.
What is the most general way to formulate difference operations in SQL statements?

Ans: The most general way to perform difference operations is to use a Type II nested query with a NOT EXISTS condition.
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